Find the ninth term of the following sequence:  3, 7, 11, 15, ... ��(A)  37	(B)  39	(C)  31	(D)  35	(E)  NOTA


Determine the sum of the first 17 terms of the arithmetic sequence whose first term is 22 and whose common difference is -4.��(A)  -170	(B)  -160	(C)  -150	(D)  -130	(E)  NOTA


What is the average of the next two terms of the sequence?  5, 10, 17, 26, __, __��(A)  49.5	(B)  41.5	(C)  43.5	(D)  47.5	(E)  NOTA


What is the sixth term of a geometric sequence whose common ratio is 3/2 and whose first term is 24?��(A)  175.75	(B)  180.5	(C)  182.25	(D)  186	(E)  NOTA


What is the sum of the infinite geometric series  18 + 6 + 2 + ...  ?��(A)  32	(B)  29	(C)  27	(D)  36	(E)  NOTA


A sequence, F, is defined such that:�	� EMBED Equation.2  ����What is the fifth term of this sequence?��(A)  468	(B)  2217	(C)  3057	(D)  4602	(E)  NOTA


The measures of the angle in a right triangle form an arithmetic sequence.  What is the measure of the smallest angle?��(A)  30	(B)  60	(C)  45	(D)  cannot be	(E)  NOTA�			        determined


Evaluate:  � EMBED Equation.2  �����(A)  488	(B)  1617	(C)  879	(D)  644	(E)  NOTA


Determine the infinite sum of the geometric series whose first term is 27 and whose common ratio is -3.��(A)  40.5	(B)  20.25	(C)  18	(D)  cannot be	(E)  NOTA�			        determined


A super ball is dropped from a height of 48 meters.  If the ball will rebound to 80 percent of its previous height on each bounce, what is the total distance it will traverse as its bounces diminish?  (Answer to the nearest centimeter.)��(A)  240	(B)  432	(C)  192	(D)  384	(E)  NOTA


The human population of the Mars increases by one sixth of its value at the end of each year.  Given that there are 500 colonists on Mars on January 1, 2020, at the end of which year will the population hit 1 million?��(A)  2067	(B)  2068	(C)  2069	(D)  2070	(E)  NOTA


A farmer must plow 1000 fields.  He starts on Day 1, and each day after that, another of his family members comes to help until the fields are finished.  If each person involved can plow a field each day they work, on which day will the plowing be completed?��(A)  44	(B)  45	(C)  46	(D)  47	(E)  NOTA


A group of thirty friends is reunited, and each of them shakes hands with each of the others exactly once.  How many handshakes transpire?��(A)  870	(B)  845	(C)  435	(D)  715	(E)  NOTA


Square ABCD has sides of length 4.  If square EFGH is formed by joining the midpoints of square ABCD, and square IJKL is formed by the same operation on EFGH, and this continues until a total of 9 squares exist, what is the sum of the areas of the nine squares?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


Evaluate:  � EMBED Equation.2  �����(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


What is the first term of an arithmetic sequence of 18 numbers whose sum is 42 and whose common difference is 3?��(A)  15	(B)  16	(C)  17	(D)  18	(E)  NOTA


An infinite geometric series has a sum of 180 and a common ratio of � EMBED Equation.2  ���.  What is the third term of the series?��(A)  10	(B)  30	(C)  120	(D)  150	(E)  NOTA


Determine the sum of the first 32 terms of the sequence defined as:�	� EMBED Equation.2  ���  for n > 0��(A)  817	(B)  1027	(C)  1168	(D)  1252	(E)  NOTA


Determine the sum of the first 31 odd numbers.��(A)  961	(B)  900	(C)  1024	(D)  841	(E)  NOTA


Determine the sum of the first 31 squares.��(A)  17843	(B)  15429	(C)  10416	(D)  8321	(E)  NOTA


If $14,000 is invested in an account which returns 18 percent interest each year, how much money will be present at the end of 12 years?  (Answer to the nearest dollar.)��(A)  $102,026	(B)  $95,433	(C)  $113,544	(D)  $109,378	(E)  NOTA


Determine the sum:  � EMBED Equation.2  �����(A)  4	(B)  3	(C)  2	(D)  � EMBED Equation.2  ���	(E)  NOTA


Find the sum of the first 21 terms of the sequence:�	27, 25, 18, 15, 9, 9, ...  (answer to the nearest integer)��(A)  -136	(B)  472	(C)  -215	(D)  215	(E)  NOTA


Sequence A is defined as � EMBED Equation.2  ���, while sequence B is defined as � EMBED Equation.2  ���.  What is the smallest positive integral value of n for which An is smaller than Bn?��(A)  5	(B)  8	(C)  7	(D)  6	(E)  NOTA


What is the first term of the Fibonacci sequence which is also a perfect square?��(A)  121	(B)  144	(C)  169	(D)  196	(E)  NOTA


A sequence is defined as:�	� EMBED Equation.2  ��� for n > 2�What is the limit of this sequence as n becomes large?��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


The fourth term of a geometric series is 3402, while the ninth term is 14.  What is the infinite sum of the series?��(A)  103857	(B)  114982	(C)  137781	(D)  147332	(E)  NOTA


The sum of the first 9 terms of an arithmetic sequence is 27, while the sum of the first 20 terms of the sequence is 200.  What is the first term of the sequence?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


Which of the following is equal to the sum of the first n terms of the Fibonacci Sequence?  Note:  F(n) represents the nth term of the sequence, S(n) represents the sum of the first n terms of the sequence.��(A)  � EMBED Equation.2  ���		(B)  � EMBED Equation.2  ����(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���		(E)  NOTA


What is the sum of the infinite geometric series with common ratio � EMBED Equation.2  ��� and first term 12?��(A)  � EMBED Equation.2  ���	(B)  21	(C)  20	(D) � EMBED Equation.2  ���	(E)  NOTA
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